W and y

0.9

1.0

— 0.015(43) y = 0.957(84) => 0.957(84)
rm422 med(mad) AC
B

F T Ij|| |IIII|IIII|IIII|IIII;
. o

§ —_— [

T

i | ' TN
! ' III IIIIIIIIIIIIIIII‘I III il Ly IJIIII.II IIII .III u»'I I II IIII IIII.I m.u : =

1 T . H i WT’II ]WF'I II‘W III!*I II X
i III Nk |I‘I y"IIII'I'n i III iy IIIWIIIII

i II' I|I I I'hfim Ir“r“..

=

IEMI | , it gl
IIIII 'I III IIIIIIIIIII IIIIII IIIIIIII IIIIIII IrI H‘.IIIl III IIII‘ II' i ':'ru : L III! III I'III /,L
I I ' W' ” ‘Ii i III _I m ‘

I' Il I I I I [0 I I I I I I I I II 1] I I I I I I 'I I'I'
2000 5000 4000 PR
2<—0.00

N (R) z = 1.07356



